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T wleelf e ®I IW-YETH ® JE-I8
Roll No. W Evd g |
Candidates must write the Code on the
title page of the answer-book.
qre NOTE
(D Fu I R oA b 39 g9 § g‘fﬁﬂ (I) Please check that this question
I8 19 2 paper contains 19 printed pages.
(II) 999-93 | erfed g1y ‘cﬁ 3R few e HIg|(II) Code number given on the right

TR I B IAL-YREThT o6 JE@-I8 |
ford |

hand side of the question paper
should be written on the title page of
the answer-book by the candidate.

(I1I)

Waﬁrmﬁﬁﬁww-qaﬁ
18 Y% 2 |

(I1I)

Please check that this question
paper contains 18 questions.

(IV)

I T F IR fore gw A
TEel, SRGETH] H W W hETH
v ford |

(Iv)

Please write down the Serial
Number of the question in the
answer-book before attempting it.

(V)
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w@iE H 1015 &9 Rl ST@W |
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Y93 1 Tl 3R 3H IE(Y & IH
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V)

15 minute time has been allotted to
read this question paper. The
question paper will be distributed
at 10.15 am. From 10.15 a.m. to
10.30 a.m., the students will read the
question paper only and will not

write any answer on  the
answer-book during this period.
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T UE: & : IIfSATI-FTa Y (TIfSaT-3Taaie)
SECTION A : Unseen Reading Comprehension

TUe: 9 : TEFTcHSh Y (THTCH-HT )

SECTION B : Writing Skills

gue: T : AT FISATRLITY_ (STIITH SAThL)

SECTION C : Applied Grammar

T Us: o qfed-TasiegTy (afed-sTaaiad)

SECTION D : Reading Comprehension

133 :

Instructions :

(V)

(it)

(i11)

(iv)

ST Jo797 TER: GUST: Tl |
59 Y97-97 4 97 @IS & |

The question paper has four sections.

S GUSH ST I THIGHT T FHHT TGN |
FF GUE @ IR TH & T8 W HH G forg &1 |

The answers to each section must be written at one place.

JITGEIT FITTAJIRE STToIHT AGH 1T |
J97-9F @ IR o7 G&IT a9 & Iera! &t |

Write the question number according to the question paper.

GV eI IV Gegpa= G0 |
Ty 991 & I qEpd 4 1o71&T |

Answer all the questions in Sanskrit.

10 ST

15 3Agn:

25 gl

30 3IAS:



@Wus: & (SECTION A)
AfSATIT-STaa Y (AfSaTT-Sraaie)
Unseen Reading Comprehension 10 3AST:

1.  ifaRad Tensr qfSea JeaueHm T §%hdq for@q |
frfaRaa meme =1 gt fou 1T Sl % 3T S%ha # fRau |

Read the following prose passage and write the answer of the given
questions in Sanskrit. 10

FARTYT AR A | STeIcd TR TANT: Tedeh & add |
3T FflH: dFHeh: STfasehdy TGNy USRI SAfHEEqUE ST =
Afeq | ST Afeash A foam: Siaeun Tomed O UG, 19 SR
TATIEYT (data) ey (coding) YR | 3Td: TWId hicl ASUHTAL
T fd fed qduEn sifed | STl e TE: SEuifie: | for:
ﬁ@m:mﬁlﬁm(virus)mwmﬁﬁm:
F: T AW | 30 QY Fanfig qod demen ST AUt SRers g weer
sfrafday | ggkT=mg foase Jefi STSieigiT (internet) favasferg ==
WﬁWWWI
(31) THUH IHA | (had FTgAY)

Th 958 H ST AT | (et &1 79

Answer in one word. (Only two questions) Ix2=2
(i) e i feq for e sifeg 2

(i)  Tonfsesr famfiq o1 awem ofed ?

(iil) ESTVRIAH_ 3T oh: ST(Heh: IAT(TSHad ?

(F) quiaTeRH ITA | (had TegIH)

o AR H IR ST | (Shed &1 T)

Answer in a complete sentence. (Only two questions) 2x2=4

(i) ST Aieassh fommT: e ®90T T 2
(i) b TSR oYUl afd ?
(iii) b TorTseT: o791 GIEIG STRId ?
3 P.T.O.




(d) I FI=SCH Fd IWYFA ek HEha fored |

39 188 o fOIY 39w Mk T&pa | faflay |
Write the appropriate title for this passage in Sanskrit. 1

(3) Fnfeym ITA | (had TTH)
foréamam ser AT | (et A )

Answer according to instructions. (Only three questions) I1x3=3

(1) ‘arfed’ ERIRIE IERIRIP Eﬁfﬁ %’{ ?

(i) IO T 3T g Ty fohy 2

(iii) TeEe 3T YT : WIF: IF AT ?
(%) IR

~ ~

(@) gy

~

(1) IraSie™

~

(iv) II=8¢ qUad 9g&d &: Tauia: 3mma: ?
(%)
(@) o
() forsenm

~




Wus: @ (SECTION B)
TEATCHERERTEH (TTATeHe-3hT )
Writing Skills 15 A

2. one uid faRaay s19: o5 v Wi 44 fored |
3 o forg e FrefaiRad o @t wesn # fou Tu wreq) skl wEEAT € Ui X
F:%’]@QI

Complete the following letter written to your elder brother, with the help

of the words given in the box and rewrite the same. éx] 0=5

(i)

feregh:

(ii)

JOIHT: |

I (iid) , Y AT qF HIret Afed 3fd 7= | Arariuad
qude o Gv) | e SHEE e Tee,

(v) | Ha 3 (vi) AMTesq | e
faw et & @ 9= (vid) | wad: e
(viii) Tafd 3 o famam: | 3= 94 (ix) |

o fime: ae: S[HRHAT: |

HId: (x)

FAg:
LEs

wigsafd, fooofta:, o, =, X 3w |, smiEsafd, Heed,

S, TLA:, ITAIH |

5 P.T.O.




3. 39 Vgd 9 goeal Hes[WT YCTRISGHT HERiddl Usd Tel- d&hdd for@d |

= o T e o qEe WeSWT H S Y Wl 1 HERdT € Ut §hd ATl

7 aufa Shifvw |
Describe the following picture in five Sanskrit sentences with the help of
the words given in the box below. Ix5=5

e L
5 .‘,:’.1‘ v

UM, Slefht:, Sfersht:, WA, saedd:, f&m@:, e, ek, e,
TE, &, shist<, WER, wEd: |
AFAqaT (OR)
HeSWTIETRIsGMI A HHfeigd fowy sAftehea usais: Hehdar: Thy
= |
oo ¥ feu Tu weqi i wEwar € fefaied o W ute g%hd Il § T
Fgeas Ty |

Write a paragraph in five Sanskrit sentences on the following topic with
the help of the words given in the box. Ix5=5

MEBICERERERICE
TR
foem, omawEeRar, W, Ffgm, fommm:, wy:, foemafa, omm, e,
foenfad:, Tm, Ome= |




FYNTARGATH TR FRAUTTAT 3 1@ | (had aTRITs=IhH )
frfcTiad aTerll sl Thd |TST H 3TJATG ih [RGT | (hadl i dTe)

Translate into Sanskrit and write the following sentences.
(Only five sentences) Ix5=5

() Tyargu g |
Father brings milk.
(i) 7 gFI T%hd 9Ed & |
Both of you read Sanskrit.
(iii) sl THI UTfTg ST@ |
Tomorrow Ramesh will go to Patliputra.
(iv) gd1 gl off ?
Where was Sudha ?
(v) F 99 %1 § 9l |
All of you read in the classroom.
(vi) o1 o9 W ST 8 |
The dog fears from the tiger.
(vii) T H T A ?
May I go out ?

@us: T (SECTION C)

HATIGFAHTRIUTH (TTIIh SAThI0T)
Applied Grammar 25 g

FYIfRgaaTey [@igaaey |f-d df-afa=sg a1 sear foed |

(hacd ITTEGSEITH )

fafafiga o § W@iferd et § af=y steran afu-fo=ae e fafay |

(haet TR )
Write the underlined words of the following sentences after joining or
disjoining Sandhi’s. (Only four questions) 1x4=4

(i)  Hde | + 97 TS |

(i) orEry-foese: 7 Hi: |
(i) B + 9 Iy |

(iv)  TTTawe M G |

(v)  ofn fg gite: + @ |

7 P.T.O.




IrefeRadaTey WarfgauerT autd faug a1 Yedfasheus: fean fored |

CEEREEGEELY
frferfiaa ameet & Y@iferd wel =1 Tmm@ Steran faug fou o fasedt & & e
foafau | (haa =) g )

Choose and write the correct compound or expounded forms of the
underlined words of the following sentences. (Only four questions) 1x4=4

()  Teorys: s =l 7 S |
(%) food w5 == =
(@) fea: s
(1) @ v I A
(i)  Ifed STwEm: w7 |
() 3THE TH:
(@) 3¥HE 94:
(1) ITAF Gu:

o N

(iii)  TYshehTehl ISR |
(%) T = s =
(@) foh: = e =
() <R U =

(iv) Il Teh: o Tf&TOl: qaid & |
(%) ¥ A
(@) wiferm Fem
() ifer sAfeshra
(v)  TH: Y 931, 9 9 |
(%) g™
(@) wgm
(M) ™



ALTARIAATRY {EITEAUGHT Thid-Sell Haisy fawsa a1 3fud I fasheuw:
Tarcan fo@a | (hadt Te=gseaH)

frefafaa Sl § T@ifehd UG H Yepld-Scaal sl SISt A1 Yok sk 3rad
ST foehedl @ gt foiflaw | (Shaed 9) )

Write the underlined words of the following sentences after joining or
disjoining suffixes to roots or words, selecting the correct answer from the
options given below. (Only four questions) Ix4=4

(i)  SAEHET |iESa |
(%) wfesy +
(@) @fEsy + e
() =|fewT +7gY,

(i) ORE ar=d ger |
(%) &R +7qQ
(@) TR+
(M) &R+

(iii)  SATHSTG WITq Fhgwet |

(iv) gHd: Tsh: 53 GTfHeh: STEHIA |

(v) Terfeqent emey areafa |

9 P.T.O.




8. WS Yad: Ue: aT=duNadH sheal AifAigd darg g4 forad |
ool | Tou MU wegi I HEEA | =¥ UREH hid g MHaRad HaTg i
RGE feflaw |

Rewrite the following dialogue changing the voice with the help of words
given in the box. 1x3=3

@ — A TS ?
Hlar — 318 g M9 (1) |

@ - A (i) [EERit
Hlar— T8 AT shg T |
@ — (i) AT qd: BATH AT |
i ALl
T, TSIy, @A |
JAYAT (OR)

AARGATT STRIT ArINEd $od | (haed Te=9Y)
fFrefafaa et o area-giEds HIfST | (SFaa i T99)

Change the voice in the following sentences. (Only three questions) I1x3=3
i)  TH: 98 Yeid |

(i) AT ISITor <o |

(i) 378 v for@my |
(iv) & qUIH wea=d |
(v) Taen o earfa |

9.  Auiffadicr=mia Nader i Hiefiuheres: [Fd | (had TRAaqeedq)
frefefad feT==n o o Tami 1 qid hrasiesh Segi 9 i |

(Pt TR )

Rewrite the daily routine using words in place of figures.

(Only four questions) 1x4=4
(i) Toerm@: wma: 9:30 e forme™ s |
i) & = 7:15 e YO =M |
(iii) TIRE: 9TE: 8:00 e AT AT |
(v) g 9w 5:30 ey |
(v) cagad: T 9:45 e Tt ot |

10




=
10. IETARIAATERY RFEAIH FoquTyEd: 3Fd: Feue: Tad |
(I TTTIEHH)
frfaRaa aret # fk Tl <l qfd wes § fSU U 3/ wgi o g i |
(W B: g)

Fill in the blanks in the following sentences with appropriate

indeclinable words given in the box. (Only six questions) éx6=3

i) W_ 3Ry s |

(i) TG pERIGCIEN

Gi) _ gfte: wafd |

Gv) _ foedia 7 e

(v) |1 dg |

(vip waq_  fE=wufae

(vi) & g yafd |

(vii)) THT: J&dh TG hioTf |

HoSTHT

I, 9, &, ®i, TLIW:, W, IAEdd:, IEHM |

11.  AenforRadarry Wenfgadey swgn & | 35 e foepete: foear formea |
(had T )
frfafaa sl § W@ifhd 98 oG & | UG 98 foshey ¥ e fofem |
(et ol )

Underlined words are incorrect in the following sentences. After selecting
correct words from the options and write the same. (Only three questions)
Ix3=3

O A R R CRNEERDIEWEELPEELSE)

(i) UGG I WIS Ff | (Y13 / W13T: / WISH)

(iii) o sfcrept: feremerd T | (STfieh / SRt / STereT)
(iv) G & 390 TesIH | (TS / e / ST

11 P.T.O.




12.

Qvus: ¥ (SECTION D)
qfSa-Eaaiey (Ufea-sTaaie)
Reading Comprehension 30 AST:
FefaIRad el 9fScan JEauHM ST HEehdd for@d |
frefafaa meme =1 gt fou T WAl % 3T wha ° fRau |

Read the following prose passage and answer the given questions in
Sanskrit. 5

Afeq ST TM: | 9 TAYE: W USYA: JHid W | Thel b1y
SMEATIHHRV T W= Figad! ggaar TUgfs Jfd Ifadr | 90 e &1
U AT ¥ | W1 ATYHNTeSN gNedl OTSedid P Suedl YEe WE —
“ThoriehehIll SATIMAUTE e Foo: ? SENFEAEIGHST Youdm | Ugeg 31
fadtr: wiacaea 17

(37) UHUCH ITA | (hadl IIgIH)
T g H I G | (FaA 31 =)

Answer in one word. (Only two questions) —X2
(i) o U &: TYA: Jafd & ?
(i)  Sfgadt a1 T TEaadt ?
(iii) ®F Mg &1 foh ggst ?
(F) qolaTeRH ITRA | (Shadt TeHeH)

U Je § IR T | (R Th TH)

Answer in a complete sentence. (Only one question) Ix1=1
()  ofgad S =ean yee fob wme 2
(i)  gfgadt grgaar 3= Iferar 2
(W) vedfasheu: 3faay 3w fecar forea | (hae goerem)
fou T foemedt § @ 3t SR e fafaw | (e o aw)

Choose and write the appropriate answer from the given

1

options. (Only three questions) Ix3=3
i) ‘Ot sred foh g T ey ?

(%) Fhgwet

(@)

(m =f

12



(i) ‘Sfaar sfa fsramaee squg foem 2
(%) ghgmdt

@) T

M) e

(i) ‘B 3fd de=a b faemvmag e weay ?
(%) T
(@) wIgH

~

(M) HHA
Gv) ‘@ sfa geer foh fspamag st ey 2
() goaa
(@) fawsa
(M) e
13. ARG F& dlocdl JEauRATM ST H&ha fo@d |
ffafaa e =1 9 ST T AT & 3T §6ha § fhaT |

Read the following poetry passage and answer the given questions in
Sanskrit. 5

SRS hH SAmHEay |
Tepel § G 8 fepadrand e |1
(1) THUCH 3T | (had TegIH)
T T H I AT | (et & )
Answer in one word. (Only two questions) —x2=1
(i) SRREESHE Tk g ?
(i) Iy *H =EmERY wafd ?
(iii) T IS HH ARM: 3 HeAd ?
(d) qolaTeRH ITA | (Shact JeIHY)
U TR | 3T ST | (R Th TA)
Answer in a complete sentence. (Only one question) Ix1=1
() N g g < i ?

(i) HH=q: fob P ?

o~ —_~ o~

13 P.T.O.




(|) Yealdeheusd: 3fuaq I facar foraa | (Shaet Te=em)
fau U foepeut ® @ 3Ifa ST g fafaw | (SFaa @ T)

Choose and write the appropriate answer from the given
options. (Only three questions) I1x3=3

()  ‘fomeferd’ sfa framresr shque f waq 2
(_05) SCE
(@)
(M) <

(i) ‘g@ <gw I ge: foh faerserden 2
%) gEHq
W) @

(
(
() =FEmM:

(i) ‘G9q:’ 3 USH h: IA: Telloh Id: ?
($) Jfiya:
(@) "H-d:
(M) 3I9Ia:

(iv) ‘g@EH 3caed Tob faatmug vare sged ?
() <&

(@) S=1H

~

(M) g&q

14. ATARGd AT IfSa TETIRAHM I F=had for@q |
frfcTRad ATeiTeT il dgeRt TG 7T JeT o 3T §%hd | fafEq |

Read the following drama passage and answer the given questions in
Sanskrit. 5

R — (WTen) 3Td T HAYAMH Jq U I: IS | IoHa Ty
TSNS T Harg T I=sa: |

TR — 3N IR | O Mg | Y @ A THEICE ? IR IRIg A
Rl Tegepefia R weraar faumn ware gfems: $a:, o : o
e A SAUSTEIUY g8 e WA= YT Id: HY HISE:
faeng: Frofm sren &g &am: |

14
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HIP: — (Foaem™m) R fgqsr | JoAdied &1 dd foRiwar Iq o
FASIISH IR H=HE 999 |
T — Iq: HH A q Tehd: STEAT | 7 | w9 | 7 f=smmd Hiedn,

(31)

(TresTgaTed Mg f&m: &) 7 HIs JaTe Aeagy: gat: |
AN ATHAY AR G 3T TTEGIU Jo3H o JTEh{Nd hedl
T STESehitsTy | 37d: STehd A: aeIeH |

TS ITd | (had TeIGIH)

T g H I G | (FaA 31 =)

Answer in one word. (Only two questions) —x2=1
(i) ‘TEHT ANT: FISISH $fd TTE oh: SR ?

(i) TR ufd ‘AAfgy® 3fd *: Trargard ?

(i) TLET YW TS T ?

UiETeRA A | (hadd TTTHEY)

Ul Je § IR T | (R Th TH)

Answer in a complete sentence. (Only one question) Ix1=1

(i) fogmn T o S RS Hd: ?

(i) &I T Yehd: STREAT ?

Yeafdeheus: 3fuaq I facar foraa | (Shaet Te M)
fou T foehedt § @ 3fa SR e fafaw | (e o aw)

Choose and write the appropriate answer from the given

options. (Only three questions) I1x3=3
(i) TR qo: ‘Warg 3T foham: hque Ry Sead ?
(%) o
(@) s
() FAS(ET:
15 P.T.O.




(i) ‘oTqd Hiedw s formrsdg fopd ?
() T,
(@) ¥,
(M)  TSHPH
(i) AT ‘ore:’ sae foh faaae wyeay 2
(%) 3R
(@) YT
() e
(iv) ‘Segar’ 3id veed qaRTg foh g ?
(%) T
(@) do:
(m)  frem

~

15. {@Ifgauar syed TRAMHT Hod | (hadd TAadeead)
iR 9al % YR T T FHi0 HIfT | (et =) ¥9)

Frame the questions on the basis of underlined words.
(Only four questions) Ix4=4

() AT g P 3 |

(i) I SEESH HH AR 3id Hed |
(iii) |: FoSU HRH IGIR( |

(iv) 34 3@ =eer] ETuaanr |

(v)  STcHehe AU o0 X WY 31fse T $ATq |

16




EHE
E.

16.  Tes[Nd: Hgfaauert faear stenferfaavetierar: 7<= g |

ool § & AYfad qg gt HefaRad i veiiehl o 37 i Ui ShIfTT |
Complete the prose order of the following two shlokas by choosing the
appropriate words given in the box. Lya=2

L ot s g | ’
AeAThcaHATeR feoea dreE o= ||
AT -
i) SHifed: TEON (i) Searteay (i)
feortea & (iv) (waf=d) |

II. 9 Soocdiedd: 59 SYdT gar = | La=2
7 Fatafed ®H W R H = || ?
AT -
Fo() o INEIH @ = (i) g: (iii)
HeIy T Afgaq (iv) T $aMq |

RES AL
o1, SMTeHA:, IRU=:, H, IO, glaved, To, W

gatr (OR)
HSS[ITT: TR Seavaiehed qrane feraee = whear g: foreq |

HSSNT <hl FETIAT & Taish o viared § ik Tl i gid b 31 faRan |
Rewrite after filling the blanks in the meaning of Shlokas with the help

of box. 1x4=4
ot 9 oot = AgameREda |
3 GidT Tl TFAvaaqy a9 ||
wrane: -
ARk () wEaRn Gi) =iy oHEYay WS |
g g (iid) AU T Hald (iv) Y
TEFavl: GRId, YT Fogew: foafshet 31 fasmmeE: 3 S |
HSTHT

fauerarm, Scael, WRIgEWT:, ITEdhIA

17 P.T.O.




E.
17.  eifafad-sars agfad-seav fored |
frfafiaa wemw 1 agfua e § fafee |
Write in right order of the following parts of story. 1y8=4

(i)  Tafeen: wferor: sify foee wdgell qen gogen gufHiEd erd Faf |
(i) o G T A4 J8hd |

(i) ek T8 g T ada ueh: IR AT o Yo g |

(iv) g @ sataa: gmafq, wifa W feafy sgaems: va fossfa |

(v) 9 gEaR e gaf=d |

vi) Hg: e T TEdHEsd W I ficcl JaTES: |

(vil) TIHd 9H: IR IR &8 qaf |

(viil) Ted STIEHT] J&ITd I IR Toaed huMHTRs g7: Jafiafl el |

18. & T forgami yern wiue @ ey fafgar af=, ot semssaor aae
for@a | (shaet gesem)

‘% Ty § faftgd uei & Wiy g ‘@ @ ° forg U E | IR FATshE 8 3k
Tmer fafen | (Shadt @ I)

Synonyms of the words of column ‘Ka’ have been given in column ‘Kha’.

Write in order in front of required words. (Only three questions) 1x3=3
& ch
NEE sty
Sreftere: 3
315, et
FAgatr (OR)

18




IrgfIRgaareRy W@TfgaueHl SaeTge Sfaarei foacr foea |

(haed JTTAIY)
frafaRaa s o Waifea ugi & yamar 3fa 1ef i gae fafeaw |
(haet i T T)
Write the appropriate meaning after choosing the underlined words of
the following sentences. (Only three questions) I1x3=3
(i)  TTe® oty fohfead TeveYm |
(%) TSI,
(@) 1A,
(M) uwE

(i) o, AYE T THE |
(%) IG!
(@) ufees !
() fr=!

(iii) 3718 TGIeEY SeHI GRe =iy |
(%) 3t

(@) W
()  3ThEHTq

~

(iv) o | 3rcfiery Taq |

N

CORE
(@) @y

~

() srfery

~

19




